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QUESTION NO: 1

What are two features that are associated with single-mode fiber-optic cable? (Choose two.)

A. a single strand of glass fiber

B. carries higher bandwidth than multimode fiber

C. cost is less than multimode fiber

D. operates over less distance than multimode fiber

ANSWER: A B 

QUESTION NO: 2

A null modem cable uses which adapter type?

A. RJ-11

B. RJ-45

C. RS-323

D. RS-232

E. USB

ANSWER: B 

QUESTION NO: 3

Which three of the following describe Fast Ethernet? (Choose three)

A. 1QBASE-T H B

B. 100BASE-T

C. 10-Mb/s speed

D. 100-Mb/s speed

E. requires Category 3 or higher UTP cabling
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F. requires Category 5 or higher UTP cabling

ANSWER: B D F 

QUESTION NO: 4

Which three of the following statements are true? (Choose three.)

A. Each IP address has two parts: a network ID and a host ID

B. An IP subnet equals a broadcast domain.

C. An IPv4 address contains 36 bits

D. 172.16.1.18 is a Class A address

E. A subnet address is created by borrowing bits from the original host ID

ANSWER: A B E 

QUESTION NO: 5

Which two of the following are features of NVRAM on a Cisco device? (Choose two)

A. Stores startup configuration

B. Stores running configuration

C. Stores routing tables

D. Stores decompressed IOS software image

E. Erased when device is rebooted

F. Not erased when device is rebooted

ANSWER: A F 

QUESTION NO: 6

Refer to the exhibit.
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Why is flash memory erased prior to upgrading the IOS image from the TFTP server?

A. The router cannot verify that the Cisco IOS image currently in flash is valid.

B. Flash memory on Cisco routers can contain only a single IOS image.

C. Erasing current flash content is requested during the copy dialog.

D. In order for the router to use the new image as the default, it must be the only IOS image in flash.

ANSWER: C 

QUESTION NO: 7

Which two of the following CLI operating modes, by default, allow you to copy a Cisco IOS image to flash memory from 
TFTP server? (Choose two)

A. User EXEC

B. Privileged EXEC

C. ROMMON

D. Global configuration

ANSWER: B C 
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QUESTION NO: 8

Refer to the exhibit.

What can be determined about the router from the console output?

A. No configuration file was found in NVRAM.

B. No configuration file was found in flash.

C. No configuration file was found in the PCMCIA card.

D. Configuration file is normal and will load in 15 seconds.

ANSWER: A 

QUESTION NO: 9

Which of the following best describes the cable that is used to connect a laptop to the Console port on a Cisco router?

A. crossover

B. straight-through

C. fiber

D. rollover

ANSWER: D 

QUESTION NO: 10

Refer to the exhibit.
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Which user-mode password has just been set?

A. Telnet

B. Auxiliary

C. SSH

D. Console

ANSWER: A 
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